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electronic products. You have been hired to provide consulting on supply
chain management of this firm. As a consultant, what kind of supply chain
structure will you recommend? How wiil you structuré the different drivers

of this supply chain so that your friend can run his business successfully?
[5 Marks]

b) How is Flipkart able to sell a large variety of books and music with less

safety inventory than a retailer selling through retail stores? [5 Marks]
OR

a) Amazon is selling all kinds of books to customers through its supply
chain. Is the supply chain for all kinds of books same? If not, then why and
how the structuring of drivers differs in terms of slow-moving (classical

literature) and fast-moving (best sellers) books? [5 Marks]

Sections | No. of Questions to attempt Marks | Total Marks
A Maximum 6 questions with internal choices and CILO 6%5 30
covered (as an example)
B Compulsory Case Study with minimum of 2 questions 20 20
50
SECTION A
A1 a) Your friend is planning to start a firm that will sell highly innovative (CILO 2)




A2

A3

b) Amazon hosts its flagship Great Indian Festival sale during the Diwali
season. In 2018, Amazon is said to have seen sale of $700-800 million
during the six days of the sale. To make this event a grand success in
2019, what sorts of changes are required in Amazon's regular supply chain

during Diwali season? [6 marks]

a) Explain the characteristics of a supply chain (efficient) in the case of

regular electronics products. [5 Marks]

b) Consider the supply chain involved when a customer purchases a
regular H & M T-shirt from Myntra. Demand variance of this T-Shirt is very
low. Explain and justify the cycles in this supply chain and the location of

the push/pull boundary. [6 Marks]
OR

a) Explain the concept of everyday low pricing, High low pricing and menu
pricing. Why everyday low pricing is considered better than high low
pricing? [5 Marks]

b) Cross-docking facility has widely used practices in the Indian retail
industry. Explain the concept of cross-docking facility. Explain the

conditions for successful cross-docking operations. [5 Marks ]

a) What type of distribution networks is best suited for highly differentiated

products? Give your rationales behind the answer. [5 Marks ]

b) The Indian retail industry has undergone a significant transformation
over the past decade and it continues to evolve quickly. As a supply chain
consultant, pick a recent trend of your choice, discuss the nature of this
trend in terms of its importance and impact on the retail industry and
specify the several challenges associated with the implementation of this

trend in the Indian retail industry. [5 Marks]

OR

Encl. 1

(CILO 1)

(CILO 3)



Encl. 1

a) Analyse cost factors associated with “distributor storage with last-mile

delivery” distribution network. [5 Marks]

b) The several trends are redefining Indian retail industry. As a Supply
Chain consultant, pick a recent trend of your choice, and discuss the
nature of this trend in terms of its importance and impact on the Indian
retail industry and the possible enablers related to the implementation of

this trend in Indian retail industry. [5 Marks]

SECTION B

Jugheads Bar and Restaurant uses 5200 bottles of an imported effervescent wine each
year. The effervescent wine cost $3 per bottle and it is served only in the whole bottle
because it loses its bubble quickly. Jugheads figures that it costs $10 each time an order is
placed and holding cost are 20 percent of the purchase price. It takes two weeks for an order
to arrive. Weekly demand is 100 bottles with a standard deviation of 30 bottles per week.
Jugheads would like to use an inventory system that minimizes inventory cost and will

provide a 95 percent service probability.

Jugheads orders its regular beer every ten days when a salesperson visits from one of the
beer companies. Heineken is one of its most popular brands, with an average daily demand
of 60 bottles. The standard deviation of daily demand was derived from examining beer
sales over the past three months and was found to be 10 bottles per day. It takes two days
for the order to arrive. Jugheads would like to satisfy 98 percent of the total demand. The

salesperson just arrived and there are currently 100 bottles in s.tock. (CILO 3)

B1. Identify the inventory model of Jugheads two products: effervescent wine and

Heineken beer. [2 Marks]
B2. Whatis the economic order quantity for effervescent wine to order?

(5 Marks]

B3 At what inventory level, Jugheads should place the order of effervescent wine.
[5 Marks]
B4 How many bottles of Heineken beer should be ordered? [5 Marks]

B5. Explain the concept of service level and safety stock using an illustration. [3 Marks]



Standard Normal Cumulative Probability Table

Cumulative probabilities for POSITIVE z-values are shown in the following table: et i,
z [ 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09

0.0 0.5000 0.5040 0.5080 0.5120 0.5160 0.5199 0.5239 0.5279 0.5319 0.5359

0.1 0.5398 0.5438 0.5478 0.5517 0.5557 0.5596 0.5636 0.5675 0.5714 0.5753

0.2 0.5793 0.5832 0.5871 0.5910 0.5948 0.5987 0.6026 0.6064 0.6103 0.6141
0.3 0.6179 0.6217 0.6255 0.6293 0.6331 0.6368 0.6406 0.6443 0.6480 0.6517

04 0.6554 0.6591 0.6628 0.6664 0.6700 0.6736 0.6772 0.6808 0.6844 0.6879
0.5 0.6915 0.6950 0.6985 0.7019 0.7054 0.7088 0.7123 0.7157 0.7190 0.7224
0.6 0.7257 0.7291 0.7324 0.7357 0.7389 0.7422 0.7454 0.7486 0.7517 0.7549
0.7 0.7580 0.7611 0.7642 0.7673 0.7704 0.7734 0.7764 0.7794 0.7823 0.7852

0.8 0.7881 0.7910 0.7939 0.7967 0.7995 0.8023 0.8051 0.8078 0.8106 0.8133
0.9 0.8159 0.8186 0.8212 0.8238 0.8264 0.8289 0.8315 0.8340 0.8365 0.8389

1.0 0.8413 0.8438 0.8461 0.8485 0.8508 0.8531 0.8554 0.8577 0.8599 0.8621

1.1 0.8643 0.8665 0.8686 0.8708 0.8729 0.8749 0.8770 0.8790 0.8810 0.8830
1.2 0.8849 0.8869 0.8888 0.8907 0.8925 0.8944 0.8962 0.8980 0.8997 0.9015
1.3 0.9032 0.9049 0.9066 0.9082 0.9099 0.9115 0.9131 0.9147 0.9162 0.9177
1.4 0.9192 0.9207 0.9222 0.9236 0.9251 0.9265 0.9279 0.9292 0.9306 0.9319
1.5 0.9332 0.9345 0.9357 0.9370 0.9382 0.9394 0.9406 0.9418 0.9429 0.9441
1.6 0.9452 0.9463 0.9474 0.9484 0.9495 0.9505 0.9515 0.9525 0.9535 0.9545
1 0.9554 0.9564 0.9573 0.9582 0.9591 0.9599 0.9608 0.9616 0.9625 0.9633
1.8 0.9641 0.9649 0.9656 0.9664 0.9671 0.9678 0.9686 0.9693 0.9699 0.9706
1.9 0.9713 0.9719 0.9726 0.9732 0.9738 0.9744 0.9750 0.9756 0.9761 0.9767
2.0 0.9772 0.9778 0.9783 0.9788 0.9793 0.9798 0.9803 0.9808 0.9812 0.9817
2.1 0.9821 0.9826 0.9830 0.9834 0.9838 0.9842 0.9846 0.9850 0.9854 0.9857
2.2 0.9861 0.9864 0.9868 0.9871 0.9875 0.9878 0.9881 0.9884 0.9887 0.9890

2.3 0.9893 0.9896 0.9898 0.9901 0.9904 0.9906 0.9909 0.9911 0.9913 0.9916
24 0.9918 0.9920 0.9922 0.9925 0.9927 0.9929 0.9931 0.9932 0.9934 0.9936

25 0.9938 0.9940 0.9941 0.9943 0.9945 0.8946 -.0.9948 0.9949 0.9951 0.9952
2.6 0.9953 0.8955 0.9956 0.8957 0.9959 0.9960 0.9961 0.9962 0.9963 0.9964
2.7 0.9965 0.9966 0.9967 0.9968 0.9969 0.9970 0.9971 0.9972 0.9973 0.9974
2.8 0.9974 0.9975 0.9976 0.9977 0.9977 0.9978 0.9979 0.9979 0.9980 0.9981
23 0.9981 0.9982 0.9982 0.9983 0.9984 0.9984 0.9985 0.9985 0.9986 0.9986

3.0 0.9987 0.9987 0.9987 0.9988 0.9988 0.9989 0.9989 0.9989 0.9990 0.9990
3.1 .| 0.9990 0.9991 0.9991 0.9991 0.9992 0.9992 0.9992 0.9992 0.9993 0.9993
3.2 0.9993 0.9993 0.9994 0.9994 0.9994 0.9994 0.9994 0.9995 0.9995 0.9995
33 0.9995 0.9995 0.9995 0.9996 0.9996 0.9996 0.9996 0.9996 0.9996 0.9997
3.4 0.9997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9998




